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Listen and circle the correct picture according to the audio recording

given.
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@ Listen and write the correct number of the sentence that matches the
picture.
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T \ Read and write the correct number of the sentence that matches the

picture.
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49 1 Listen and write the tone for each phonetic symbol.
‘0 ;’

(A). (B). (C). (D). (E).
O 30 Jo ol
y— v o5l ) 20
(F). (G). (H). (1). (J).
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(4{7 4 Draw a line to match the picture with its phonetic symbol.
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ggé%; =—Color the circles based on the pronunciation of the items

in Chinese.

first tone pronunciation : green
second tone pronunciation: yellow
third tone pronunciation: orange
fourth tone pronunciation:blue
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A 506y Listen and circle the correct answer that matches the picture based on

the question given.
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Link the words.
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Link the words.
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Link the words.
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